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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) udemeff geyem 3799 J9-3 W Ameh JTfHaria: forg |

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) axft ww e A E |

All the questions are compulsory.

(3) T T HT I & TS I -T&ehT H & ford |

Write the answer to each question in the given answer-book only.
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(4) T w1 9 3T @Ug €, 39 @t o I U 1 g ford |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) WRA-TF % TE 9 SISl TR § forelt yepr <t e/ 3t/ faiemam g9 W T v &y

%I & T A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

6) @S
A
9

9

I

Section
A

B
C
D

R A 3o T TR

1-13 1
14 -24 2
25-27 3
28 -30 4

Q. Nos. Marks per question
1-13 1
14-24 2
25-27 3
28 -30 4

(7) I ShUTH 14, 27, 28, 29 9 30 | 37Taieh faehed |

Question Nos. 14, 27, 28, 29 and 30 have internal choices.

SS-42-Bio.

Previous Pathshala




Qug — 3
SECTION - A
1. 5% IR 9T & 9™ forfau |

Write the name of four flower parts. Ya+Vat+VatVa =1

2. T # ford qea <l Heft 3 shror Aot A vl wie I AT ] ?

Marsh spot disease of pea is caused by deficiency of which element in soil ?

3. AT fareett % Q) e fofau |

Write two examples of impermeable membrane.

4. T gfg Fadiess g o1 A fafe |

Write the name of a growth inhibiting hormone.

5. U Sl etk Iy o Sfd Sferieft safiera: Tt ferag st am forflau |

Write the name of Boll worm resistant genetically modified variety of cotton.

6. AR I TIfed b feTu ATt Het 1 ohi< ©1 91T 3T & 7

Which part of coconut fruit is used for yielding coconut oil ?

7. HMEE =1 % g0 i @1 faerfia gvaifva feran srar g ¢

Which vitamin is synthesised by human skin ?

8. M H1 S Teh Tq3T1 I HE YehTsl H <G H T & 7

Which eye pigment helps animal to see in dim light ?
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9. TIigE WY Y «C” HIfNHTE DI | g h1 ffor wedt & ?
Which hormone is synthesised by “C” cells of thyroid gland ? 1

10. b 9 U 9 5= o foTq e spt 8.0, . h1 SYehl e =niad ?

For prevention of which disease, a person should be vaccinated with T.A.B. ? 1

11. heslT G 1 Ueh ICTE0T TARIT |

Write an example of hinge joint. 1

12, “Tregemyed” ! 9wesy |

Explain “Gastrulation”. 1

13. 3.3.50. o1 qu A fafau |
Write the full form of E.E.G. 1

g -

SECTION - B

14, SIS ohl TRATISA hITSTT T $HehT Teh IETELYT Tl |
YT
Tafercan & &= ° 9 MeEfirehl @ < 7gw fafa |

Define bacteriophage and write one example of it. 1+1=2
OR

Write two importance of biotechnology in medical field.
15. TG =ik AT 3TIa =ik H 3 fAra | 1+1=2

Write difference between estrus cycle and menstrual cycle.
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17.

18.

19.

5
YRG! Tl Teh ST T ATH TIRIT qAT HYTRET ITeT o Gl TN ol A fIRaT |

Write name of a species of honey-bee and write name of two appliances of apiculture.

1+7+%=2

e @UE TS SE& Ul FI=0T hl THSTST G $EhI Teh ITANT R |

Explain restriction fragment length polymorphism and write one use of it. 1+1=2

SteTeht 9o 8 ¢ Sfrerd i o Sereft % &9 H fohd yehR 3w fRa ST | 7

What is biopesticide ? How Baccilus thuringiensis is used as biopesticide ? 1+1=2

Y- A | 9TeY 1 970 AT AMT-B § 308 graf-ara 3wt qrgy v 8 | e o6t gafera Hifv
HIT-A HIT-B

(A) o (i) 31 go7 Hiererg

(B) (i) ¥ &g oot

(C) ettt (iii)  oftoer foRmTeRTd Bat

(D) Hiw (iv)  SrafTes 6 g9 B

Part — A contains the plant name and Part — B contains useful plant part related to them.
Match the following :
Part- A Part— B
(A) Munj (1) Dry flower buds
(B) Clove (i1) Leaves for fibres
(C) Black pepper  (ii1) Mature Crimocarp fruit

(D) Fennel (iv) Immature dry drupe fruit Yo+ +h+1h=2
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21.

22.

23.

24.

25.

26.

27.

6
e Ue YRE=RT d Gaeft af T sl GHATST |

Explain two disorders related to heart and circulatory system. 1+1=2

TSRETETC o ST 9T GITgHT ohl ATHERIUT Ul bl GHETST |

Explain nomenclature of enzyme on the basis of chemical reaction. 2

farfa fordl Shad & ? W 1 Yofi STaenati o qiT & S THTE o THHRIE | A I 37 I
o g @ 2

What is Kliekning ? In human embryonic stages, which organs are formed during third to
sixth week of gestation ? 1+1=2

HE-THTIeIdT ol ITEWT ST THETST |

Explain co-dominance with example. 2

fee e T 3 ek Ieh <1 A TAfET | 38 U <l Teh TI&T0T I Sr=ITd <hl Teh 30T TS |
Write the pathogen of Tetanus. Mention one symptom and a preventive measure of it.
1+%+%=2
Qg -9
SECTION - C

SHITITHTT YUIITY <ht =T T A= Fui HIfT |

Describe the structure of cellular endosperm with diagram. 1+2=3

S - e <l aieTiia Rt | Sia-fafm 1 afem swemsT |

Define crossing over. Explain crossing over with diagram. 1+1+1=3

TRTET S AT qT RrEe hd g qUEoT YewH i ATHifhd fos ST |
YT
wreH fepafarfyr = arer Sl Rrgr=a =t aaese au gfed =1 Amifsha s ATy |

Explain the osmosis and draw a labelled diagram of demonstration of osmosis by thistle
funnel. 2+1=3
OR

Explain lock and key theory of enzyme action and draw a labelled diagram of model.
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28.

29.

()
(1)
(iii)

(1)
(ii)
(iii)
(1)
(ii)
(iii)

(1)
(1)
(iii)

(1)
(iii)

(1)
(i1)
(iii)
(1)
(i1)
(iii)
1)
(i1)
(iii)

7
TQug —q
SECTION - D

B9 -T¥h ok 1 U IIedi A BT 8 7
C,, =15k i Teranfafyr =1 wmgmsT |
C,, =I5k 1 3TR@ o7 1T |

YT
SR 58 had 7 ?
TSR I ToATSSIehToT shl THSITET |
SIS =I5k ol G [or SHT3T |

In which plants Hatch-Slack cycle takes place ?

Explain mechanism of C, cycle.
Draw a line diagram of C, cycle.

OR
What is ammonification ?
Explain nitrification and dentrification.
Draw a line diagram of nitrogen cycle.

T Ul sht TN TLEHT T ATHIehd o =13 |
g <t fomanfarfer =1 awemsT |
Ul o I3 g1 LT /<TNT o1 T fIfaT |
JAYAT
et fshan ot wftafya SHifs |
et fsram <6t foranfarter 1 amzmsw |
et =9 <1 [T 3TR@ 13T |

Draw a labelled diagram of internal structure of human ear.

Explain the mechanism of hearing.

Write any two diseases/defects of ear.
OR

Define reflex action.

Explain mechanism of reflex action.

Draw a line diagram of reflex action.
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30. (i) 37a:v9ed Ud f.vewq < feranfater o1 amfera fom ammgT |
(i) 37d:vag wd - vewa 6 fernfafy i augmse |
HAYET
(i) TMa gT s AT AT Sl ATHTIhd e ST |
(i) €ed ud yiE=r 7 grawl foredl o= Tt o1 oo <hifv |
(i) Draw a labelled diagram of mechanism of inspiration and expiration.
(i1)) Explain mechanism of inspiration and expiration. 1+3=4
OR

(i) Draw a labelled diagram of internal structure of human heart.
(i) Describe any three diseases related to heart and circulatory system.
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